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REM[REEmM] B | 3IF | F5 | 3IF | S | 3IF | 5 | $IF | FES | #IF | # FIE | S | $IF | BS | #IF | 5 | #IF
bl =% Tl | £ [WE#BEX 60.00+60 98 | 37,863 18 B B
KHH K% Tl | EF 60.00+370 309 | 38,172 B B
=W =% Tl | £F 60.00+410 40 | 38,212 A 296 B
EHH K% Tl | EF |db/\iEEM 60.5 % | 38302 o A B
=W =% Tl | £F 60.50+200m 200 | 38,502 A B
EHH K% Tl | EF 60.50+265 68 | 38,570 A
=W =% Tl | E=F 61.0 268 | 38,838 B
EHH =& FeIl | EF 61.5 573 | 39,411 B
=W =% Tl | E=F 62.0 394 | 39,805 B
EHH EH Tl | EF 62.00+445 446 | 40251 20 B
=W =% FEi)Il | £ |J/A\—20a2kSG)62.5 56 | 40,307 B
EHH K% Tl | EF 62.50+185 185 | 40,492
=W =% Tl | E=F 62.50+245 60 | 40,552 B
EHH K% Tl | EF 62.50+255 10 | 40,562
EHm R Tl | £F |EEE 62.50+350m 95 | 40,657
EHH K% Tl | EF 62.50+465 115 | 40,772 B B
REHW =% FeIl | E=F 63.0 30 | 40,802 B B B
RE&HH EH Tl | EF 63.5 508 | 41,310 21 B B B
REHW =% Tl | £F 63.50+495 498 | 41,808 B 161 B 161 B
Etodinl &% Tl | EF 64.0 43 | 41,851 B B
REHW =% Tl | £F 64.00+260 260 | 42,111 B B
Etodinl &% Tl | EF 64.00+340 80 | 42,191 B B B
REHW =% FeIl | E=F 64.5 105 | 42,296 22 B B B
Etodinl &% Tl | EF 64.50+285 285 | 42,581 B B B
REHW =% Tl | £F | KEEHEK 65.0 140 | 42,721 B 162 B 162 B
Etodinl &% Tl | EF 65.00+290 285 | 43,006 B B
EHm R FHIl | £F |EEE 65.00+380 90 | 43,096 B B
EHH EH Tl | EiF |[BIIERS 65.00+449 69 | 43165 23 B B B
KW =% Tl | E=F 65.5 513 | 43,678
Etodinl K% Tl | EF 65.50+345m 345 | 44023 24 A
EHm R Fea)ll | EiF [EBEAUR—F ]66.0 148 | 44,171
Etodinl K% Tl | EF 66.00+250m 250 | 44,421 B
=W =% Tl | E=F 66.5 275 | 44,696 B B B
EHH =& FeIl | EF 67.0 543 | 45,239 B B B
EHm R Feh)ll | £iF |ESHKEES  |67.00+85 85 | 45,324 B 163 B 163 B
EHH K% Tl | £F | FKOES 67.5 450 | 45,774 B B B
=W =% Tl | E=F 68.00-450m 63| 45837 25 B B B
EHH EH Tl | EiF |BESE 68.0 450 | 46,287 B A A
=W =% Tl | E=F 68.5 478 | 46,765 B 164 A 164 A
EHH K% Tl | EF 68.50+100m 100 | 46,865 B A A
=W =% Tl | £F 68.50+250m 150 | 47,015 B 165 B 165 B
EHH =& Tl | £F |[PEEE1258E]69.0 254 | 47,269 B B B
=W =% Tl | E=F 69.5 295 | 47,564 B B
EHH =& FeIl | EF 70.0 471 | 48,035 B B
REHW =% Tl | £F 70.00+615 615 | 48,650 166 B 166 B
EHH =& Tl | 5 |FEE 70.5 33 | 48,683 B B
REHW =% Feh)Il | = |FEedEmiFKFY ]70.50+75 76 | 48,759 B B
EHH &% Tl | EF 70.50+250m 175 | 48,934 B B B
REHW =% FeIl | E=F 71.0 477 | 49,411 B B B
EHH &% Feh)il | ZiF |/\BEEBAE |71.00+175 177 | 49,588 B B B
REHW =% FeIl | E=F 715 548 | 50,136 B B B
EHH EH Tl | EF 71.50+23 23 | 50,159 B 167 B 167 B
EHm R Tl | £F |[ARETHEE ]71.50+298 276 | 50,435 B B B
EHH K% Tl | EF [MRKE 72.0 60 | 50495] . B B B
=W =% Tl | E=F 72.5 453 | 50,948 B B B
EHH =& FeIl | EF 73.0 538 | 51,486 B B B B
EHm R Tl | £ [#HHmX 735 448 | 51,934 B B B B
EHH EH Tl | i [#RmE 74.0 362 | 52,296 B 168 B 168 B 168 B
KW =% Tl | E=F 74.5 327 | 52,623 B B B B
Etodinl K% Tl | EF 74.50+80m 80 | 52,703 B B B B 997 B
REHW =% Tl | £F 74.50+140m 60 | 52,763 B B B B
Etodinl =& Tl | £ |FRRE 75.00+250m 110 | 52,873 B 169 B 169 B
=W =% Tl | E=F 75.50+290m 40 | 52,913 B B B
EHH K% Tl | EF 75.50+300m 10 | 52,923 B 170 A 170 A
=W =% Tl | £F 75.00+375m 75 | 52,998 97 B 171 B 171 B
EHH EH Feh)ll | £iF |[REFHX 75.0 100 | 53,098 B 172 B 172 B 172 B
=W =% Tl | £F 75.00+10m 10 | 53,108 B 173 B 173 A 173 A
EHH K% Tl | EF 75.00+200m 190 | 53,298 B 174 B 174 B 174 B
=W =% Tl | E=F 75.00+422 222 | 53,520 B B B
EHH K% Tl | EF 75.00+447.5 39 | 53559 28 A 175 B 175 B
KW =% Tl | £F 75.00+590m 129 | 53,688 B B B
Etodinl K% Tl | EF 75.0+645 60 | 53,748 B B B
EHm R Fehll | EiF |REFHX 75.00+700 55 | 53,803 B A A
Etodinl K% Tl | £F |REFHE 75.5 51 | 53,854 B 176 A 176 A
REHW =% Tl | £F 75.50+100 100 | 53,954 B A A
Etodinl K% Tl | EF 75.50+200 100 | 54,054 B
=W =% Tl | £F 75.50+308m 108 | 54,162 B 177 A 177 A
Etodinl K% Tl | EF 75.50+330 45 | 54,207 B 178 B 178 B
=W =% Tl | £F 75.50+340 10 | 54,217 B 179 A 179 A
EHH K% Tl | EF 75.50+480m 140 | 54,357 B 180 B 180 B
KW =% Tl | E=F 76.0 42| 54399 29 B 181 B 181 B 181 B
Etodinl K% Tl | EF 76.00+40m 40 | 54,439 B B B B
REHW =% Tl | E=F 76.5 557 | 54,996 B B B B
Etodinl K% Tl | EF 76.50+150 150 | 55,146 B 182 B 182 B 182 B
EHm R Tl | £F |E5HE 76.50+235 85 | 55,231 B B B B
Etodinl K% Tl | EF 76.50+300m 65 | 55,296 B B B B
KW =% Tl | E=F 76.50+400m 100 | 55,396 B
Etodinl =& FeIl | EF 77.0 73 | 55,469 B
KW =% Tl | E=F 71.5 366 | 55,835 B
Etodinl =& FeIl | EF 78.0 466 | 56,301 B
REHW =% Tl | E=F 78.00+115 115 | 56,416 B
Etodinl &% Tl | EF 78.00+186.5 71| 56,487
KEHW =% Tl | E=F 78.00+278 92 | 56579 30 A
Etodinl &% Tl | EF 78.00+280 2 | 56,581
REHW =% Tl | £F 78.00+290 10 | 56,591 182-2| B 182-2| B
KEH K% Tl | EF 78.00+361 21| 56,612
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REM[REEmM] B5 | 3IF | TS | 3F | BES | 3IF | F5 | HFE [ BES | #F | ES5 [ HF | FS | 31F | S | I | 5 | #F

=&MW =% Tl | £F 78.00+435.5 78] 56,690 | 31 A

Ftadinl K% Tl | EF |B/HE 78.5 136 | 56,826

AR & Tl | BF 60.00+275 280 | 40,273 B

AR =H FHIl | BHE 60.0 40,273 w%;h% B

AR & Tl | BEF 60.00+315 52 | 40,325 B

AR K% Tl | BEFE 60.00+325 10 | 40,335

AR R Tl | BE (8L 60.00+383 0 | 40,335

AR K% Tl | BEFE 60.00+410m 17 | 40,352 B

AR | K% | T | B=F 60.5 223 | 40575| 68 B H30

AR =& Tl | BEFE 60.50+392m 392 | 40,967 B 386 | H30

AR & Tl | BEF 60.60+400m 108 | 41,075 B H30

AR =& FeIl | BE 61.0 36 | 41,111 B

AR =% Fell | BE 61.00+480 480 | 41,591 B

AR =& FeIl | BE 61.5 0| 41,591 69 B 1 B 1 B

AR & Fell | BE 62.0 513 | 42,104 B B B

AR K% Tl | BEF 62.00+40m 40 | 42,144 B

AR % FHIl | BE 62.5 437 | 42,581 B

AR &% Tl | BEF 62.50+45 45 | 42,626 B

AR & Tl | BEF 62.50+125 80 | 42,706

AR EH Tl | BF |BEEE 62.50+175m 50 | 42,756

AR & Tl | BEF 62.50+205 29 | 42,785

AR &% Tl | BEF 62.50+220m 15 | 42,800 B

AR & Tl | BEF 62.50+355 135 | 42,935 B B B B

Etodinl =H FHIl | BE 63.0 135 | 43,070 B 912 B 912 B 12 B

REHW =% Fell | BE 63.5 530 | 43600 70 B B B B

Etodinl &% Tl | BEF 63.50+215 215 | 43815 B B B B

KW & Tl | BEF 63.50+220 5| 43,820 B B B

Etodinl K% Tl | BEF 63.50+230 10 | 43,830 B B B

KW =% Fell | BE 64.0 312 | 44,142 213 B 213 B

Etodinl =& FeIl | BE 64.5 599 | 44,741 B B

REHW =% Fell | BE 65.0 563 | 45,304 B B

Etodinl K% Tl | BEF 65.00+55 55 | 45,359

=W =% Tl | BE [EE 65.00+60 0 | 45,359

EHH K% Tl | BEF 65.00+160 45 | 45,404 A A A

=W & Tl | BEF 65.00+510 440 | 45844 T1 B 214 A 214 A 214 A

EHH EH Tl | BiF |BEB 65.5 40 | 45,884 A A A

=W & Tl | BEF 65.50+320 320 | 46,204 B A A A

EHH =& FeIl | BE 66.0 172 | 46,376 B

=W & Tl | BEF 66.00+125 125 | 46,501 B

EHH =& FeIl | BE 66.5 397 | 46,898 B 915 B 915 B

=W & Tl | BEF 66.50+70m 70 | 46,968 B B B

EHH K% Tl | BEFE 66.50+350m 280 | 47,248 B 216 B 216 B 216 B

=W =% Fell | BE 67.0 106 | 47,354 B 217 A 217 A 217 A B

EHH K% Tl | BEFE 67.00+290 290 | 47,644 B A A A 319 B

REHW & Tl | BEF 67.00+410 120 | 47,764 B B

EHH &% Tl | BEF 67.00+495 85 | 47,849 B A A A B

REHW =% Fell | BE 67.5 32 | 47,881 B 218 A 218 A 218 A

EHH &% Tl | BEF 67.50+95 95 | 47,976 B A A A

REHW & Tl | BF |BIEE 67.50+110m 15 | 47,991 B A A A

EHH EH Tl | BEF 67.50+200m 90 | 48,081 72 B

REHW =% Fell | BE 68.0 426 | 48,507 B 219 B 219 B

EHH K% Tl | BEFE 68.00+450m 450 | 48,957 B B B

=W =% Fell | BE 68.5 88 | 49,045 B

EHH K% Tl | BEFE 68.50+300m 300 | 49,345 B 220 B 220 A 220 A

=W & Tl | BEF 68.50+400m 100 | 49,445 B 291 B 291 B 291 B

EHH =& FeIl | BE 69.0 94 | 49,539 B B B B B

=W & Tl | BEF 69.00+60 60 | 49,599 B 222 B 222 A 222 A B

EHH =& FeIl | BE 69.5 680 | 50,279 B B B B 320 B

KW & Tl | BEF 69.50+75m 75 | 50,354 B B B B B

Etodinl K% Tl | BEF 69.50+180m 105 | 50,459 B B B B

REHW & Tl | BFE 69.50+272m 92 | 50,551 B B B

Etodinl =& FeIl | BE 70.0 186 | 50,737 B B B B

=W & Tl | BFE 70.00+415 408 | 51,145 B B B B

EHH K% Feh)ll | B |EEE 70.5 28 | 51,173 223 B 223 B 223 B

=W =% Fell | BE 71.0 297 | 51,470 B B B

EHH K% Tl | BEFE 71.00+65m 65 | 51,535 13 B B B B

=W & Tl | BEF 71.00+497 373 | 51,908 B B B

EHH =& FeIl | BE 715 6| 51,914 " A B B

=W & Tl | BEF 71.50+18 18 | 51,932 A B B

EHH K% Tl | BEFE 71.50+105 89 | 52,021 75 B B B

KW =% Fell | BE 72.0 472 | 52,493

Etodinl K% Tl | BEF 72.00+120 129 | 52,622

KW =% Tl | BiE [4E)IKM 72.00+250 24 | 52,646

Etodinl K% Tl | BEF 72.00+280 30 [ 52,676

EHm % Tl | BEF [MRKE 72.00+310 30| 52,706 | 76 B

Etodinl =& FeIl | BE 72.5 476 | 53,182

=W =% Fell | BE 73.0 488 | 53,670

Etodinl K% Tl | BEF 73.00+390 429 | 54,099

=W & Tl | BE |[#E)IKM 73.00+400 100 | 54,199

EHH =& FeIl | BE 73.5 68 | 54,267 994 B 994 B

KW & Tl | BEF 73.50+100m 100 | 54,367 B B

Etodinl =& FeIl | BE 74.0 508 | 54,875

REHW & Tl | BEF 74.00+300m 300 | 55,175

Etodinl =& FeIl | BE 74.5 404 | 55,579 995 B 995 B

=W & Tl | BEF |FFRE 74.50+180m 180 | 55,759 B B

Etodinl =& FeIl | BE 75.0 345 | 56,104 B B B B

KW =% Fell | BE 75.5 394 | 56,498 B 226 B 226 B 226 B

Etodinl =& FeIl | BE 76.0 404 | 56,902 27 B B B B

KW & Tl | BEF 76.00+50m 50 | 56,952 B B B B

Etodinl =& FeIl | BE 76.5 323 | 57,275 B B B

REHW =% Tl | BF |E5HE 76.50+185 186 | 57,461 B 227 B 227 B

Etodinl &% Tl | BEF 76.50+395 211 | 57,672 B B

KEHW =% Fell | BE 77.0 185 | 57,857

Feh EH Tl | BEF 77.00+125m 125 | 57,982 B

Felith & Tl | BEF 77.00+530 405 | 58,387 78 B 228 B 228 B

T K% Tl | BE 77.00+540 10 | 58,397 B 229 A 229 A
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REM[REmM] B | I | B [ | BS (U | BE [ fIx | BS | fix | BS | fiE | B | fiE | S | #1ix | B | #IE
Feith =% Tl | BE 71.5 122 | 58,519 18 B 230 B 230 B
Feh EH Tl | BEFE 77.50+150m 150 | 58669 | e | B B B
Feam | &% | Fal | A 77.50+166 16 | 58.685| B B B
Feh EH FeiIl | BE 78.0 446 | 59,131} o A B B
Fehm & Tl | BEF 78.00+380.5 377 | 59,508 A 231 B 231 B
Feh EH Tl | BEF 78.00+405 25 | 59,533 B B
Felith K& Tl | BE |[E/HE 785 55 | 59,588 B B




